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1 FaE 145 39 0 2 104 106 145 0
2 Fam 24 6 0 2 9 11 17 7
3 REA R 487 303 2 6 161 169 472 15
4 Y] 123 56 1 3 58 62 118 5
8t 779 404 3 13 332 348 752 27
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1 [XmX 5 2 2 1 3 5 0
2_|WRBX 6 2 2 2 4 6 0
3 LR 2 1 1 2 2 0
4| BEREX 8 2 1 3 2 6 8 0
5 2B 7 1 3 3 6 7 0
6 |JLX 7 1 6 7 7 0
7 RIX 3 1 2 3 3 0
8 LRJIX 5 1 4 5 5 0
9 |[EMmX 5 3 2 2 5 0
10 |[EBirX 3 1 1 2 2 1
1| F|Ex 3 2 2 2 1
12 | KHKX 14 3 2 8 10 13 1
13 |mIIX 1 1 1 1 0
14 _|FZm 4 4 4 4 0
15 [I&h 14 3 1 10 11 14 0
16_|[1&Em 11 2 2 6 10 10 1
17 _|=5E 1 1 0 1 0
18 |ZoE=m 35 2 2 4(2) 21 27(2) 29(2) 6
19 ==& 1 1 0 1 0
20 Ehihi 3 3 3 3 0
21| RBxm 47 8 1 5 31 37 45 2
22 Gl 7 1 6 6 7 0
23 |Edm 3 1 2 2 3 0
24 |SFdm 1 0 0 1 0 1 1 0
25 [/\Em 11 2 3 6 9 11 0
26 |RABRT 5 1 4 5 5 0
27 |#®PRmMm 5 1 4 5 5 0
28 |l 34 6 4 24 28 34 0
29 _|E8h 5 1 3 4 4 1
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(ERFENMAIL, SEIFRS (RE))
< ARBERERERFROER R >
NLIE 3
| s B AEANR mas | Hmm
X/ o > /. N E N
X5 “HH | mRTIT S R =5 z HEET | 4%
P RIE 49 6 1 10 25(2) 36(2) 42(2) 7
SEXRRHOELLEN 16 0 2 1 10 13 13 3
B A F A 6 1 0 0 1(1) 1(1) 2(1) 4
F [CFEAEWERE 4 0 0 0 2 2 2 2
Z D 2 0 0 0 2 2 2 0
/IVE 77 7 3 11 40(3) 54(3) 61(3) 16
L PRI 36 1 1 3 25(1) 29(1) 30(1) 6
ﬁ'ﬁ%ﬁ K[EXNIEMDEBEFED 31 0 1 1 22(1 ) 24(1 ) 24(1 ) 7
ey 7 et 5 0 0 1 0 1 1 4
EU%%—‘ UFEAERIEIRE 2 0 1 0 0 1 1 1
W <D fth 2 0 0 0 2 2 2 0
INE] 76 1 3 5 49(2) 57(2) 53(2) 18
_Bar 153 3 6 16 89(5) 111(5) 119(5) 34
(EXRBFMAIX, SEERS (FE))




